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Ferris Wheel:

As you ride a Ferris Wheel, your distance from the ground varies sinusoidally with time.
When the last seat is filled, your seat is at the position shown. Let ¢ be the number of seconds
since the wheel started. You find it takes you 3 seconds to reach the top, which is 43 feet
above ground, and that the Wheel makes one full revolution every 8seconds. If the diameter
of the wheel is 40 feet:

a. FFind an equation that will determine your height, h(t) , above the ground at any time ¢.
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b. How high above the ground are you after 9 seconds?
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c. How long does it take for your to be 20 ft above the ground for the second time?
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